


(") Pt‘uduct B can be
12,000, Logg i,

further Processed by incurring SXpenditure of
SO further Processing is 294 1 can be sold @ 713
i : Y

Xplain the Impact op Profitability if Product B is

(c) Fo]lowing data is available for XYZ Ltd. for the month of F b
: €bruary 4

2024
;:n:;":e:;: l::‘i :‘::th i hours per day of g days per week
Maximum capacity 150 employees

Actual working 125 employe

Aﬁfﬁhﬂﬁﬁ@[@ Budgered Qamdider it Sk caller a PP
Efficiency Ratio 110 %

You are required to calculate the following :
(1)  Actual Hours worked.

(1)  Standard Hours for actual output.
(1i1) Activity Ratio.

(iv) Standard Capacity Usage Ratio.

(@) Luxury Designer Pvt. Ltd. is a manufacturing company, which 8
manufactures readymade designer shirts. It has four customers: two
wholesale category customers and two retail category customers. It has
developed the following Activity-Based Costing system :

P.T.O.
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clivity Clost Driver Rate (T)———._]

Order Processing

1,260 per purchase order
1,500 per customer visit
30 per delivery Km. travelled
4,490 per expedited delivery

Customer Visits
Regular Deliyery

Expedited Deliyery

kbt selling price per shirt is 2 1,000 and average cost per shirt 38
¥ 600. CEO of Luxury Designer Pvt. Ltd. wants to evaluate the oS
Pl‘Dﬁtahilit}.- of each of the four customers for the year 2023, t0 explore ]
OPPortunities for increasing profitability of his Company in the next

Year 2024, The following data in context of four customers are
available for 2023 -

L Wholesale Retail
Customers Customers
L Complete pdf avgilaste jrivstadyRed| r“ﬁﬁp\
Number of Purchase orders | 50 65 224 245 }
E\fumber of Customer visits 10 13 ] 22 \
LRegular Deliveries 46 52 175 198 \
Kilometers travelled per | 20 15 10 25
delivery
IExpedited Deliveries 5 16 50 62 \

Average Number of Shirts | 215 110 18 15
per order
Average Selling Price per | 3700 | T800 | 900 | %950
Shirt
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You are required 1g .
Ca!cu]a[c th '
A Customer-Jeye|
opera

6
70% per flight, 1 e normal occupancy is estimated at
o Pa S c- thte average One-way fare is 212,500 from city *“ND’
. 0sts of o : -
analyst are - Peration of the flight as collected by an expent
F .
uel cost (Vanable) per flight from ‘ND’ 2228000 :

Food served on flight from ‘ND’ to ‘GA 1[ 757 acd iden, o l
(no charge to Passenger) | § Pex pamegey :
H
Commission paj l :

. paid to Trave] Agents (All ticket 7.5% of faEJ‘
booking through agents) t\
Fixed costs : - : ca \

/ ggmgﬂete pdf available in study callerapp— |
/ Lease & landing charges per flight ‘ND’ to ‘GA’ l ¥9,12,000 11
: : : 3 2 l
/ Salaries of flight crew per flight ‘ND’ 1o ‘GA’ \ z 90,%[7\
Note : Assume that fuel costs

are unaffected by the actual number of
passengers on a flight,

You are required to :
(1)  Calculate the net operating income that Star Airlines makes per flight
from ‘ND’ to ‘GA’.
(i1) Star Airlines expects that its occupancy will increase to 144 passengers

per flight if the fare is reduced to ¥ 11,670. Advise whether this

proposal should be implemented or not.

DHG2
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Uﬂils nf a rOd
ki, Ei:‘ Uel. Managemen is thinking to increase the working
levels, i ‘lIe :, RS level. It is estimated that at both the
» 1t Will be able to se) .
all the its. The other details
are as under - produced units. The o

° At 700 -
7o capacity, the cost of raw materials increases by 4% and

the selling Price falls by 39

L ] 0 =
At 90% capacity, the cost of raw materials increases by 5% and

selling price falls by 4%,

L] f
AL 60% capacity, the product cost is 2 360 per unit and it is sold

at X 400 per unit,
° The unit cost of 2 360 consists of the following :

Material - 77200

Labour | ‘ - 260
Complete pdf available in study caller app
Factory overhead - 260 (50% fixed)

Administrative & Selling overhead - % 40 (60% fixed)
Additional advertising cost of ¥ 20,000 is to be incurred for

selling the product above 80% capacity.

You are required to :
(i) Calculate the profits of the company when the factory works at

- 60%, 70% and 90% capacity level.

(i) Offer your comments regarding increase in the capacity based on

profit calculated.

DHG2




® SK. Manufucturing Co. Ltd. showed  net profit of € 540,400 “wper 7
their cogy 4ccounts for the year ended 31,03,2024. However, the

| Factory overheads under absorbed 44 m

Administrative Overheads over absorbed 24,000 \
Interest paid on bank borrowings 1 50-003\
-| Interest & Dividend received \ 6&,20?\
Notional rent of OwWn premises charged in cost accounts \ 60,000 \
ﬁosscs on the sales of fixed assets and investments \ 43.0’06\
E)onations and subscriptions \ 18,800\
li)vervaluation of closing stock of finished goods in Cost accounts \ 1.25,000\
! Store adjustments (credited in financial books) \ 7’500\
40,000 |

LDepreciation over charged in cost accounts ? )
E‘E?ﬂ?‘?fﬁl@{%ﬂﬁﬁ&!f available Tn study catter APDT 56,900 |

You are required to :
Prepare a reconciliation statement taking net profit as per cost accounts

(1)
as base. ihis
(ii) State when is the reconciliation statement of Cost and Financial
accounts not required ?
(a) Meta Company Ltd. is engaged in the production of product “Trio

which passes through two different processes — Process P anlerm':ess
Q. Other information obtained from books of account for the year is as

follows :
DHG2
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-—-_"'_l";ceu P | Process Q |
10,000 -
T80 -
252,000 T 78,000
¥ 8,600 T11L,100
T 130 2 190

P~9,200 units and Q-6,400 units. 3/4h
Passed on tg the Process Q and

of process Q was sold.
Management & Selling €xpenses during

These are not allocable to the processes,
The normal loss of ¢t

précQplete DO BORTPSssyes. Ralculated on the jupatofevery

of the output of Process P was

the balance was sold. The entire output

the year were %1,70,000.

Process P - 6% and Process Q -10%

The Loss of Process P was sold at X 5 per unit and that of Q at 2 8 per

unit. Assume that Process P and Process Q are not the responsibility
centres. :

You are required to prepare :
(1) Process P Account
(ii) Process Q Account

(1i1) Abnormal Loss and Abnormal Gain Account
(iv) Costing Profit & Loss Account.
DHG2
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: Prod :
units were sl . uced during the year out of which 10,000
8,000 units of finished goods were in stock

. There wer
€ also O
3,000 units in Progress which may be reckoned

as 40% CoOmplete

. The actua] mach;i
achine hours worked during the period were 43.000.

ABC Litd. absorh
: S the production
overheads at a :
X 8 per machine hoyr predetermined tate of

Onoinv ?ﬁ'ﬁﬂ?ﬂldﬂﬂi ha¥ @é!:ﬁ t?clil?n& r;;lha% %gabgfcﬂ?g [ﬁgeﬁﬁgmﬂm

of productio
p N overheads was due to defective planning and the rest

was attribu : : Y
table to normal increase in costs of indirect materials and

indirect labour.

You are required to :

(i) Calculate the amount of under-absorption of production
overheads during the year 2023-24; and

(i) Show the treatment of under-absorption of production overheads
in cost accounts.
DHG2
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Purpoge ; e year 2022-23 on gee
as Eiven you th

ount of labour turnover. For this
o - f‘olluwing information -
ES fgr the
|
Was | St year 2022-23 was ¥ 2,16,80,000 and P i
s9 ,16,80, and P/V ratio

b
Y the Personnel Department in filling vacancies
On accoyunt of laboyr

turnover, 95,000 Potential productive hours

. .
(excluding 4nproductive training hoyr

(IQDII—[}B(I)EI:E pdf available’in S?lj”affg‘?fhller app

units of the outpyt produced during training period were

defective. Cost of rectification of defective units was 2 40 per

unit,

(v) Settlement cost

< 2,37,880.

of the workers leaving the organization was

(vi) Recruitment and Selection cost was % 1,40,000.
(vi1) Cost of Training and Induction was % 1,61,950.

DHG2




tumover coulq p,
ave bEen
50 sgd
for the year 2022 Id at Prevailing prices, find the profit lost

-23 on
account of labour turnover.

Jim by PQR Ltd : 4
! Year __Sll_\_-_:_(j—_ Profit/(Loss) (ﬁw
[2022-23 1,80,00,000 (3,80,000) \
/ 2023-24 2,40,00,000 11,20,000 W
BT |

You are required to -

(1) Calculate the Break even sales.

(ii)CﬂWL%g?i df available in study caller app

IS estimated that the variable cost will go up by 5%
and fixed cost will reduce by X 4,80,000. Selling price will

remain same. Calculate the sales volume to eam a profit of

% 15,00,000.

c¢) Discuss Feedback Control and Feedforward Control system of 4

budgetary control.

DHG2 P.T.O
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6. (a) Distingui
- guish between ¢
OSt control and cost reduction. S

(b)  Distinguish
P a: between Waste and Scrap. Discuss the treatment of normal — §
normal scrap in Cost Accounts,

(¢) Describ, i i
i I.E Unit Costing and Batch Costing, Give three examples of
ustries for each method where these are used ¢
OR

(¢) Descri ] i i s,

be .bI‘IEﬂ}' idle time and explain the treatment of idle time in cost 4
accounts in following situations - q

(1)

Th i . 2
€ Setting up time for the machine in case of Direct Worker Mr. A.

(1) Normal break time for lunch in case of Indirect Worker Mr. B.

(111) Time lost due to breakdown of machine in case of Worker Mr. C

Complete pdf available in study caller app
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